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diagram 1 diagram 2 diagram 3
The first three diagrams in a sequence are shown above.
The diagrams are made up of dots and lines. Each line is one centimetre long.

a Make a sketch of the next diagram in the sequence.
b The table below shows some information about the diagrams.

Diagram 1 3[4 n

Area 11419 |16 ... £

Number of dots 4(9 16| p . Y
Number of one centimetre lines [ 4 | 12 | 24 | ¢ | ... z




Grade 9  AddMath.                              Investigation                           09-09-2010                



1)
[image: image4.png]



[image: image2.png]i Write down the values of p and q.
il Write down each of z, y and z in terms of n.

¢ The total number of one centimetre lines in the first n diagrams is given by the expression
en® + fn? + gn.

Find the values of e, f and g.

Find the total number of one centimetre lines in the first 10 diagrams.
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of several sequences. Sequence P [ 7 | 5| 3 1| D
Sequence Q | 1 [ 8 (27 | 64 [ ... q | e
SequenceR | 1 | 2 [ 2 | & | .. 7|
Sequence S | 4 | 9 | 16 | 25
Sequence T [ 1 | 3 27
SequenceU [ 3 | 6 | 7 | -2

a Find the values of p, ¢, r, s, t and u.
b Find the nth term of sequence
iP i Q iii R iv S v T
¢ Which term in sequence P is equal to —777?
d  Which term in sequence T is equal to 177 1477
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